PHIL FREITAG

Regular Hours 2080 x \$33.66 =	70,012.80	
O.T. Hours (est.) 110 x \$50.49	5,553.90	
Christmas Bonus	300.00 =	
		\$75,866.70
		\$75,866.70
Village Share I.M.R.F.		
	9,748.87	
	_	Ć0 740 07
Village Share F.L.C.A	=	\$9,748.87
Village Share F.I.C.A.	_	¢F 902 90
75866.7	=	\$5,803.80
Group Insurance		
Health x 12	28,884.00	
Dental x 12	611.35	
Vison x 12	280.08	
Employee Contribut	tion -5,135.52	
• •	=	\$24,639.91
Uniforms	=	\$510.00
Workers Compensation Insurance		
	=	\$1,628.13
	TOTAL	6440 407 44
	TOTAL	\$118,197.41
Additional Benefits. Your wages include thes	S.A.	
amounts for time paid but not worked.	SC .	
Holidays 9	2,423.52	
Vac. Days 25	6,732.00	
Sick Days 12	3,231.36	
Personal Day 1	269.28 =	\$12,656.16
 , -		; = - /
Employee Cost		

Shayne Bagby

Regular Hours 2080 x \$27.09 = O.T. Hours (est.) 110 x \$40.64 Christmas Bonus	56,347.20 4,470.40 300.00 =	
Cili istilias bolius	300.00 =	\$61,117.60
		\$61,117.60
Village Share I.M.R.F.		
	7,853.61	
	=	\$7,853.61
Village Share F.I.C.A.		
61117.6	=	\$4,675.50
Group Insurance		
Health x 12	11,197.92	
Dental x 12	305.80	
Vison x 12	140.04	
Employee Contribution	0.00	
	=	\$11,643.76
Uniforms	=	\$510.00
Onliorms	-	\$510.00
Workers Compensation Insurance		
	_	ć1 400 00
	=	\$1,409.98
	TOTAL	\$87,210.45
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 9	1,950.48	
Vac. Days 25	5,418.00	
Sick Days 12	2,600.64	
Personal Day 1	216.72 =	\$10,185.84
		\$97,396.29

Kent Graber

Salary	61,588.80	
Christmas Bonus	300.00 =	
		\$61,888.80
		\$61,888.80
Village Share I.M.R.F.		
	7,952.69	
	=	\$7,952.69
Village Share F.I.C.A.		
61888.8	=	\$4,734.49
Group Insurance		
Health x 12	6,361.92	
Dental x 12	305.80	
Vison x 12	140.04	
Employee Contribution	0.00	
	=	\$6,807.76
Uniforms	=	\$510.00
Workers Compensation Insurance		
		Ć1 450 04
	=	\$1,159.81
	TOTAL	\$83,053.55
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 9	2,131.92	
Vac. Days 11	2,605.68	
Sick Days 12	2,842.56	
Personal Day 1	236.88 =	\$7,817.04

Logan Weseloh

Regular Hours 2080 x \$30.16 =	62,732.80	
O.T. Hours (est.) 110 x \$45.24	4,976.40	
Christmas Bonus	300.00 =	
		\$68,009.20
		\$68,009.20
Village Share I.M.R.F.		
	8,739.18	
	_	ćo 720 10
Villago Sharo E L C A	=	\$8,739.18
Village Share F.I.C.A. 68009.2	=	\$5,202.70
00005.2	_	\$3,202.70
Group Insurance		
Health x 12	5,752.68	
Dental x 12	140.04	
Vison x 12	291.24	
Employee Cont	tribution 0.00	
	=	\$6,183.96
Uniforms	=	\$800.00
Workers Compensation Insurance		
	=	\$2,437.17
	TOTAL	ć01 272 21
	IOIAL	\$91,372.21
Additional Benefits. Your wages include	these	
amounts for time paid but not worked.	· mese	
Holidays 9	2,171.52	
Vac. Days 10	2,412.80	
Sick Days 12	2,895.36	
	241.28 =	\$7,720.96
•		. ,
Personal Day 1		\$7,720.96

Sasha Horner

Salary	80,483.61	
Christmas Bonus	300.00 =	
		\$80,783.61
\frac{1}{2}		\$80,783.61
Village Share I.M.R.F.	10,380.69	
	=	\$10,380.69
Village Share F.I.C.A.		¥20,000.00
80783.61	=	\$6,179.95
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution		
	=	\$0.00
Uniforms	=	\$510.00
Workers Compensation Insurance		
	=	\$1,690.51
	TOTAL	\$99,544.76
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 9	2,785.68	
Vac. Days 11	3,404.72	
Sick Days 12	3,714.24	
Personal Day 1	309.52 =	\$10,214.16

\$109,758.92

Jennifer Parkinson

Salary	83,475.00	
O.T. Hours	200.00	
Christmas Bonus	300.00 =	\$83,775.00
		, ,
		\$83,775.00
Village Share I.M.R.F.	40.765.00	
	10,765.09	
	=	\$10,765.09
Village Share F.I.C.A.		. ,
83775	=	\$6,408.79
Group Insurance Health x 12	21 425 24	
Dental x 12	21,435.24 948.65	
Vison x 12	418.08	
Employee Contribution	-5,135.52	
	=	\$17,666.45
		. ,
Uniforms	=	\$800.00
Workers Compensation Insurance		
	=	\$1,769.55
	TOTAL	\$121,184.88
		. ,
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 9	2,889.36	
Vac. Days 11	3,531.44	
Sick Days 12	3,852.48	640 504 55
Personal Day 1	321.04 =	\$10,594.32

\$131,779.20

Gary Williams

Regular Hours 1000 x \$15.60 =	15,600.00	
Christmas Bonus	0.00 =	
		\$15,600.00
		\$15,600.00
Village Share I.M.R.F.		413,000.00
	0.00	
	=	\$0.00
Village Share F.I.C.A.		
15600	=	\$1,193.40
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	
	=	\$0.00
Uniforms	=	\$150.00
Workers Compensation Insurance		
	=	\$920.01
	TOTAL	\$17,863.41
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 1	124.80	4400
Personal Day 0	0.00 =	\$124.80

Austin Bohlmann

Regular Hours 1000 x \$27.43 =	27,430.00	
O.T. Hours (est.) 0 x 22.50		
Christmas Bonus	150.00 =	
		\$27,580.00
		ć27 F00 00
Village Share I.M.R.F.		\$27,580.00
village Silale Livi.n.r.	0.00	
	0.00	
	=	\$0.00
Village Share F.I.C.A.		φ
27580	=	\$2,098.40
		, ,
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	
	=	\$0.00
Uniforms	=	
Officialis	_	
Workers Compensation Insurance		
	=	\$1,006.31
	TOTAL	\$30,684.71
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 2	438.88	
Personal Day 0	0.00 =	\$438.88

\$31,123.59

Chris Brammeier

Regular Hours 1000 x \$27.83 =	27,830.00	
Christmas Bonus	150.00 =	
		\$27,980.00
		\$27,980.00
Village Share I.M.R.F.		Ψ27,300.00
	0.00	
	=	\$0.00
Village Share F.I.C.A.	-	Ş0.00
27980	=	\$2,128.99
27333		+ 2,220.00
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	
	=	\$0.00
Uniforms	=	
Workers Compensation Insurance		
	=	\$1,006.31
	TOTAL	\$31,115.30
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 2	445.28	_
Personal Day 0	0.00 =	\$445.28

\$31,560.58

Josiah Davidson

Regular Hours 1000 x \$27.83 =	27,830.00	
Christmas Bonus	150.00 =	
		\$27,980.00
		\$27,980.00
Village Share I.M.R.F.		327,380.00
	0.00	
	=	\$0.00
Village Share F.I.C.A.	-	30.00
27980	=	\$2,128.99
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	40.00
	=	\$0.00
Uniforms	=	
Officials	-	
Workers Compensation Insurance		
	=	\$1,006.31
	TOTAL	\$31,115.30
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 2	445.28	
Personal Day 0	0.00 =	\$445.28

\$31,560.58

Josh Saathoff

Regular Hours 1000 x \$27.56 =	20,000.00	
Christmas Bonus	150.00 =	
		\$27,560.00
		\$27,560.00
Village Share I.M.R.F.		
	0.00	
	=	\$0.00
Village Share F.I.C.A.		
27560	=	\$2,108.34
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	
	=	\$0.00
Uniforms	=	
Workers Compensation Insurance		
	=	\$1,006.31
	TOTAL	\$30,674.65
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 2	440.96	
Personal Day 0	0.00 =	\$440.96

\$31,115.61

Daryl Weseloh

Regular Hours 1000 x \$27.43 =	27,430.00	
O.T. Hours (est.) 0 x 22.50 Christmas Bonus	150.00 =	
		\$27,580.00
		427 500 00
Village Share I.M.R.F.		\$27,580.00
	0.00	
		40.00
Village Share F.I.C.A.	=	\$0.00
27580	=	\$2,098.40
_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		4 =,000.10
Group Insurance		
Health x 12	0.00	
Dental x 12	0.00	
Vison x 12	0.00	
Employee Contribution	0.00	
	=	\$0.00
Uniforms	=	
Workers Compensation Insurance		
	=	\$1,006.31
	TOTAL	\$30,684.71
Additional Benefits. Your wages include these		
amounts for time paid but not worked.		
Holidays 0	0.00	
Vac. Days 0	0.00	
Sick Days 2	438.88	
Personal Day 0	0.00 =	\$438.88

\$31,123.59